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AQA AS Biology exam practice answers

1 The causes of disease

1
(a)
A slow increase to 1850, then a more rapid rise from 1850 to 2000.

[2]

(b)
A sugar shortage during the two world wars. 

[1]

(c)
No records were kept before 1900. 

[1]

(d)
There is a correlation, but correlation does not mean a cause. There could be another cause 
such as increased dietary fat or decreased activity levels.

[4]
2
(a)
So countries with different population sizes can be compared. 

[1]

(b)
Any two from: emphysema, bronchitis, asthma. 

[2]

(c)
Alcohol consumption. 

[1]

(d)
28 per 100,000 is 280 per million, ( 125 = 35,000. 

[2]

(e)
Any two from: diet, genetic predisposition, lack of screening/failure to diagnose early. 

[2]
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